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Name: Datum: Ergebnis:

10,352 x 100 = 1,634 x 100 =

10, 524 x 10 = 6,456 x 10 =

1,468 x 1000 = 5,767 x 100 =

10,691 x 10 = 5,174 x 10 =

5,895 x 1000 = 4,939 x 10 =

7,19 x 100 = 6,507 x 100 =

9,352 x 100 = 6,919 x 1000 =

3,552 %10 = 4,989 x 10 =

6,94 x 100 = 5,971 x 10 =

5,689 x 1000 = 9,841 x 100 =
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Name: Datum: Ergebnis:

10,352 x 100 = 1035.2 1,634 x 100 = 163.4

10,524 x 10 = 105.24 6,456 x 10 = 64.56

1,468 x 1000 = 1468 5,767 x 100 = 576.7

10,691 x 10 = 106.91 5,174 x10=51.74

5, 895 x 1000 = 5895 4,939 x 10 =49.39

7,19 x 100 =719 6, 507 x 100 = 650.7

9,352 x 100 =935.2 6,919 x 1000 = 6919

3,552 x 10 =35.52 4,989 x 10 = 49.89

6,94 x 100 = 694 5,971 x 10 =59.71

5,689 x 1000 = 5689 9,841 x 100 = 984.1
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